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1.  Даны числа: 45; 4,5 · 108; 0,045 · 106; 0,45; 45 · 103. Укажите число, записанное в стандартном виде.

1) 45 2) 4,5 · 108 3) 0,045 · 106 4) 0,45 5) 45 · 103

2.  Даны числа: 0,0038; 0,38 · 108; 38 · 10−5; 3800; 3,8 · 102. Укажите число, записанное в стандартном виде.

1) 0,0038 2) 0,38 · 108 3) 38 · 10−5 4) 3800 5) 3,8 · 102

3.  Даны числа: 150; 0,015; 15 · 105; 1,5 · 10−4; 0,15 · 10−6. Укажите число, записанное в стандартном виде.

1) 150 2) 0,015 3) 15 · 105 4) 1,5 · 10−4 5) 0,15 · 10−6

4.  Даны числа: 0,35 · 106; 3,5 · 105; 3500; 35 · 10−4; 0,0035. Укажите число, записанное в стандартном виде.

1) 0,35 · 106 2) 3,5 · 105 3) 3500 4) 35 · 10−4 5) 0,0035


